
D. all points given here  

17. The kernel of the operating system remains in the primary memory because ________.  

A. It is mostly called (used)  

B. It manages all interrupt calls  

C. It controls all operations in process  

D. It is low level  

18. The process related to process control, file management, device management, information 

about system and communication that is requested by any higher level language can be 

performed by __________.  

A. Editors  

B. Compilers  

C. System Call  

D. Caching  

19. Multiprogramming systems ________.  

A. Are easier to develop than single programming systems  

B. Execute each job faster  

C. Execute more jobs in the same time  

D. Are used only on large main frame computers  

20. Under multiprogramming, turnaround time for short jobs is usually ________ and that for 

long jobs is slightly ___________.  

A. Lengthened; Shortened  

B. Shortened; Lengthened  

C. Shortened; Shortened  

D. Shortened; Unchanged  
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